x @y o] TAAC]y = dx-5 2 FWA =T £: X - YolA £(£(2))
o] & Fateiat.

B
=¥



X ol gkola,b,c, YO g0l a,b,c 2 T, (X,¥) = o] F1A]

7H

2.

g Fofolet,

7h



3. I I A H A6, 0), B(6, 4), C(2, 4) & 9 0 2 o]Foj7
Atthe]E OABC 9] W olE ~totofzth

B
=¥



—4,-2,0,2,40]t},

@ ye

2,-1,0,1,2¢0|tt,

® f(-1)=2°]t.

@ x

@ A (-1,1)= Ado.

® f(-2)+ f(2) =00°]|t}.



o
Hr‘
e lo

1)
o, &

’

@D 10L

].

2 40kmE 7h= AEA7F AT

Le| §4-471 Bag

o] Z}&2 96km = 7}

® 12L ® 14L @ 16L ® 18L



& 57k 8 B4 AL BE DEW?

Q@ FA7H0.5em Ql FH xS ASUEHY Eol7F yem 7t
= e},
© A% xkm 2 y AT Feko] 40km E FH T
© 717k xem % AP O] B 7 A= ykgolth
@ "W Zol7t xem, ®OI7F yem Q1 A4 ] Wol=
10 cm? o]},
ORON® ® ©.©

® 9,0
@ 0.0.6 ® 6.0.e



o9

g%‘ﬂﬂ,xﬂ%k

’1’

1
2

kol -

-2x+39]

=+ f(x)

TR

0 | <

o 1<

0O | <A | <
-
— | <o | <

Q@ ©

S —
[eR RSN RS

©@ ©



8.

L9

O& T &2 A2

Mo

3, 1)1 Al 2 AHEE] A
4,0): A2 AHER] A

1420, —5) : ARSIl 91 et
5

R B al
@ D(S’ 1420) F A a2l

® E(0, —3): A 3AMHEH] A

@ Al
@ B(
® C(



A Ala-3) 7 A B2.b) 7 yEol thatel ALY o, 0,69 G2 7
shi?

@ a=-2,b=-3 @ a=2b=3

® a=3,b=2 @ a=-3,b=-2

® a=-2b=3



10. 7 (2a-3, 12-3q) }%¢y:—§x%’494 A o), g 0] e Fahed
o

Qe



11.

oS 2 AM ATy =ax2] 1
B To), A BIF S y = pr o] T
4w, A4 Ak A4 B7F FAIO A=
HE (e, d) 23 512}, o] W, ab—cd O] TS
at?

2 2
® - @251 ® -2
@ 2 ® -3




E‘r%%@—’%y:f(aio)/]:wﬁ o got AHoz 2

i [e} =

Flo

A

@ a< 0 o, Al 2, 4AREHS AT
O 942 Adth

® @(3,
>0

ODAH.OC OO0 ®0a06 &6 6 0.6

ftlo



13.

Sl
ol §AR = Fo HAE YEdH A
E2 50 52 10EF FEFI
9] k9] ztol= Auplrt?

@ 10L @ 15L ® 20L

@ 9251, ® 30L

F(L)
yl\ B
6F---
5 L — — /L -
4
1 1
v
0 3 5 7
A ZHE)



= 8 =
‘#—?y:;oﬂ/ﬂ xZFl<x<dold @xola<y<hbd ®,a+b

&7

1o

D 5 ® 6 3 8 @ 10 3 15



15.

T+ A(a-2, 4a-1),B(3-2b, b-1) ©] ZtZ}

W, 2 9 gre
a

) ®

DO | =
| o
®)
w| oo
®
(@]

o



